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=] F-=% =
R2.3.25| 16 EI)&)*E EHEFIME (2020628 5 (EeRs 1ei0f o] 1701 0 0 ol 1701 0 0 0 0 0 0
=1 2= =1 =T = e P
R2.3.31] 17 :;)ﬂit%ﬁ SRR (KRS 2085 45,200 m9| 44,827 0 0 o] 44827 0 0 0 0 0 0
I % = oy ~ -
R2.2.31 18 :’gﬁﬁ” MEARR (RFESENTRAS 30,020 80| 30810 0 0 of 30610 0 0 0 0 0 0
=] e = ot P .
R2.3.31| 19 ﬁ?‘ﬁ“ﬂmﬁ“% KFEEATERS B0, 445 09 79, 640 o 0 0 79, 640 0 0 0 0 0 0




(FHfrHkst4)

D = {
= & B &

[Dr3ZERES]

HRI2ZEIA ) [KESEM)

(Efr - M)

THE HEHE (RSO
inE REEHR
#£A8 | =B BRHERE - A% HHH % 4 1 rm—

= (96) WBEFRR | TER RER | mEERR SV TR asknn | IEBAR | sEER L3 AR

R2.3.3t| 20 ‘E’:)BI%&%%EEDEIJ% CkR&EMTHEALE 30,920] o8 30, 610 0 0 0 30, 610 0 0 0 0 0 0
.3, =

R2.3.31| 21 |RESRESIRENRIE (20205448 7) 36,2708 o8] 35 007 0 0 0 35, 907 0 0 0 0 0 0
R2.8.31) 22 |REBiREMAIRIE (20206545 5) 24,030 98] 23,788 0 0 0 23789 0 0 0 0 0 0
R2.3.31| 23 |RIsBERAIAIE (202044 B ) 87,305 99 86, 431 0 0 0 86, 431 0 0 0 0 0 0
R2.3.31] 2¢ [:BT - L= 3,000 100 3,000 0 0 0 0 0 0 3,000 0 0 0
0 0 0 0 0 0 0 0 0 0 0
R2.2.5 kL UASE (6H) 3,068 0 0 0 0 0 0 0 0 0 0 0
R2.2.19 ZiREUASE (78) 13,626 0 0 0 0 0 0 0 0 0 0 0
R2.2.28 =R&UARE (8R) 12, 820 0 0 0 0 0 o 0 0 0 0 0
R2.2.28 =ikEUASE (9 A) 122, 843 0 0 0 0 0 o 0 0 0 0 0
R2.4.24 ZREYVAE (10R) 411,112 0 0 0 0 0 0 0 0 0 0 0
R2.4.28 =ik&LUAE (118 264, 331 0 0 0 0 0 0 0 0 0 0 0
R2.4.28 w=ik& VAL (128} 354, 694 0 0 0 0 0 0 0 0 0 0 0
R2.4.28 #RLYAZE (18) 407,818 0 0 0 0 0 0 0 0 0 0 0
R2.4.28 #REYAFE (2H) 608, 450 0 0 0 0 0 0 0 0 0 0 0
R2.5.18 =REUAE (3H) 716, 208 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 o 0 0 0 0 0
3HAM 2,956,070} 773,566 716, 208] 2,145 0 0f 691,681 0 0 6,500 10, 346 5,534 0
et 2,056, 070| 3,334,570 2, 856, 068 42,098] 143,170 og0| 2, 602, 454 0 0 19, 546 52, 767 54, 953 40,000




